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(4) we-gEdE

(5) eI S

a7 % v H O w1 e fRes SR
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(1) fega-fogea st

(2 Teufa-gafr s=m=afEn

(3) wagiq & st

(4) T+ 909 w9 =GR

(5) efE W

FAenEEg ¥ Iwfed wEa  Ifus
AT A1 -5g

(1) CO (2) HNDH

(3) S0, (4) NO

(5) w5

uTg q91 SvaTel & fore A w9 |
&\ oy o, @ wrEee # gem |
(1) @@tz

(2) =R :
(3) yfafia wd R |

(4) T HaRHAR |
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Magnetic properties of the
ferromagnetic metals in the
nanosize become

(1) Paramagnetic

(2) Anti-ferromagnetic

(3) Diamagnetic

(4) Ferromagnetic

(5) Question not attempted

The scattering of waves in Bragg’s
experiment is due to
(1) Rayleigh scattering

(2) Einstein's scattering
(3) Newton scattering

(4) Raman scattering

(5) Question not attempted

AFM working principle is based on

which of the following ?

(1) Dipole-dipole interaction

(2) Dipole-magnetic interaction

(3) Electron beam interaction

(4) Vander Waal's force of
interaction

(5) Question not attempted

Which among the following is the
most harmful air pollutant that is
produced by automobiles ?

(1) CO (2) HNO,4
(3) SO, (4) NO
(5) Question not attempted

The electrical conductivity of
particles in nano form with respect
to bulk phase for metals and
semiconductors
(1) increases
(2) decreases
(3) remains the same
(4) increase followed by decrease
(5) Question not attempted
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11.

el -yl 1 Hephal &

(1) =rsgrem & A

() #3nd. FHam

(3) aATaltaw <t wmEn

(4) wTEgH A

(6) FafawwE .
ﬁmmﬂmﬁmﬁ%ﬂﬁﬂmﬁﬁ
THh! STt T 2 -
(1) =g (2) wEHe
(3 uhfam (1) Fefem
(5) IANE v
AT~ ST e e &

(1) e oes

(2) ok mgss

(8) vt & a7 ardtfas 9o
(4) Rrbis

(5) i WA

I 79f & yer-ues #

(1) g o EEgioe

(2) How Ud HTaEH

(8) TEA UE T

(4) EH TH AR

(5) IE W
Frferfiga # 2 eftomg-wae @ wefua 2 -
(1) EvEeE FE

(2) SHE-FHTHEH SgH

(3) &l $ adt

(4) = H gfewal Fi @@t

(5) Frgwia W

Tiet § I i e faa gigar 2

(1) 0.2 ppm (2) 3.0 ppm
(3) 5.0 ppm (4) 0.005 ppm

(5) FrufE T

e e e e —— —— —— e .

Water pollution is indicated by :
(1) Amount of nitrogen

(2) Amount of BOD

(3) Amount of oxygen

(4) Amount of hydrogen

(5) Question not attempted

Blue baby diseases is caused if
drinking water has excess amount
of :

(1) Nitrate (2) Sulphate
(3) Aluminium (4) Cadmium
(5) Question not attempted

Environmental pollution affects :

(1) Biotic components

(2) Human beings only

(3) Biotic and abiotic components
of environment

(4) Plants only

(6) Question not attempted

The main constituents of acid rain
are :

(1) Nitrogen and Hydrogen

(2) Sulphur and Oxygen

(3) Carbon and Oxygen

(4) Sulphur and Nitrogen

(5) Question not attempted

Which one of the following is
related to green house effect ?

(1) Global warming

(2) Biodegradable pollutant

(3) Farming of green plants

(4) Vegetable farming in houses
(6) Question not attempted

. Maximum prescribed concentration

of copper in drinking water is

(1) 0.2 ppm (2) 3.0 ppm
(3) 5.0 ppm (4) 0.005 ppm
(5) Question not attempted
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13.

14.

15.

FHE HYA TEAA

(1) ®T% 5= = #1.370.€1. ¥&41 5 ppm
BFHAEA 2 |

3 & it %1 pH 5.5-9.5 & &=
a1 =t | |
e, BeHL Ud AT & ATIES
el 9% AT GTF £ |

oferdt & fera 3 g 4 ppm
fera AT g e ¢ |

A 5

Ty 3 e Tare AG: B 8
(1) 0187% (2 108 14%

(2

3

(4

(5)

(3 10820% (4 001F0.07%
(6) eIiE S
CH,CH,CH,CH,0H —2095" 5
350 °C
By p KOH .
Ethanol
i C %1 [UPAC 9 &
(1) 13¥mEgA  (2) 1-5EH
(3) 1-89grA (4) 1-=geTE
(5) 3T W
frofofea difieet & @ 9 @ yHw-
TaTaT yu et § 78 e 7
(1) TGS % TS
(2) FH=H
(8) widedias
(4) SRR HrET
(5) HRE

|
|
|
}
|
|
|
|
|
|
|
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14.

15.

Find the incorrect statement :

(1) BOD value of clean water is
less than 5 ppm.

Drinking water pH should be
between 5.5-9.5

Carbon, sulphur and nitrogen
oxides are the most
widespread air pollutants.

(2)

(3)

(4) Dissolved oxygen concen-
tration below 4 ppm is ideal

for the growth of the fish.

(5) Question not attempted

Soil organic matter usually ranges
in content from

(1) 0.1to7% (2) 10to 14%
(3) 10to 20% (4) 0.01 to 0.07%
(5) Question not attempted

ALO
CH,CH,CH,CH,0H ﬁ; A
Br, KOH

—=B

-
Ethanol
The ITUPAC name of compound C is
(1) 1- Bromobutane
(2) 1-Butene

(3) 1- Butyne
(4) 1- Butanol
(5) Question not attempted

Which of the following compounds
is not found in Photochemical fog ?

(1)
(2)
(3)
(4)
(5)

Nitrogen oxides
Ozone
Formaldehyde
Chlorofluoro carbons

Question not attempted
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18.

19.

53

(1) 4-HrEmiE-6-afas g2a

(2 4-9ifre-2, 5-sEafas dam

(3) 4-FmgEmiiE-2-Afte Fe

(4) 3-wfrE-2, 5-sEafe gt

(5) R W

o= %1 adft IUPAC 9™ 2

(1) 8, 3-=r=ifys wie

2 1, 2-zEafae Se

(8) 2, 3-srEHfys IUA

(4) 2, 2-srEufas TE

(5) A W

sferiaa A %1 [UPAC 719 da@r ;
(‘Ha\ /cns

GH:: I

@ 1L 2;@:@93@1&%{2 2-1]
B~ 3-3T

(2) 6,7, 7T-greniae asawe [2-2- 1]
FA-1-317

3) 2,7, 7T-grEniYe FEEea [2-2- 1] |

TRA-1-H

(4) 1,7, 7T-grEARe ardamgE (202 1)
-2 3

(5) HIwiE uwH

1-syfee argae S $) e

@ /N~ @

(5) Frgmita sw

%CH
e

|
i

5

16. The correct IUPAC name of the

given molecule is

(1) 4-isopropyl-6-methyl heptane
(2) 4-propyl-2, 5-dimethyl hexane
(3) 4-isopropyl-2-methyl heptane
(4) 3-propyl-2, 5-dimethyl hexane
(6) Question not attempted

i .The correct I[UPAC name of the
‘Tneopentane is
(1) 3, 3-dimethyl propane

1, 2-dimethyl propane

(2)
(8) 2, 3-dimethyl propane

(4) 2, 2-dimethyl propane
(5) Question not attempted

18. Give an IUPAC name of the

foll compound :
uwu;g\ /ngH

CHy — T\ ———CHy
CH, E

{1) 1, 1, 2 — Trimethyl bicyclo
< [2-2.1] heptan — 3 — one
(2) 6, 7, 7 — Trimethyl bicyclo

[2-2-1] heptan — 1 — one
(3 2, 7, T — Trimethyl bicyclo

[2-2- l] heptan — 1 — one
(4) 1, 7, 7 — Trimethyl bieyclo

[2-2- 1] haptan 2 —one

__{5} Question not attempted

The structure of 1 — butyleyelo

prnpa_nol 18 :
&N (4) HO

(5) Question not attempted




20. Fdifafeas @ = IUPAC

21.

22. aniferftad tes =1 IUPAC 7™ faflau -

Cl{achlJHCH (IZHCHCHCH

M

rSTOW
ofit [2,3-b] HE
ofi [2, 3 — a] WA |
o (2, 3 — ] HH |
(4) o [2, 3 -d]FE |

(6) TG ¥
svifeafes @i =

A

argaTsEe (3 - 2 - 1] 3
arfaTgae [1- 2 - 3] T |
aréaEE (3. 2 - 1] HATwRA
FrsaTEEE! (2 3 - 1) AATaA
SR T

(1)
2
(3)

IUPAC =™

(1)
(2)
(3)
(4)
(5)

CHJFGHE.

CH, CH, I
(1) 2,4,5-;@&1?:-5- |
FATaeA ;
(2) 5 - W@ - 2, 4, 6 — FEATU |

e |
(3) 4 - w - 3, 5, 7 — gEARE |

Sl |
(4) 2. 4 — STEARIE — 5 — RIS — 6 — |

Hforet sif |
(5) 3TIE W |

6

20.

21.

Write an IUPAC name of the
following compound :

rs TO\‘
Thieno [2, 3 — b] furan
Thieno [2, 3 — a] furan
Thieno [2, 3 —c] furan

Thieno [2, 3 —d] furan
Question not attempted

(1}:_ ;
(2) .
(3
(4)
(5)

Give the IUPAC name of the
following compound :

(1)« Bicyelo [3-2-
(2). - Bicyelo [1-2 -
(8). Bicyclo [3 - 2 - 1] octane
(4). Bicyclo [2 - 3 - 1] octane
(6) Question not attempted

Give an IUPAC name of the
following alkane :

1] hexane
3] hexane

GI-I2 -CH,
CH, ~CH,~CH - CH - CH ~CH,-CH -CH,

CHB l tljl-la

(1) .2, 4, 6 — Trimethyl — 5 — ethyl
octane

(2) .6 — Ethyl — 2, 4, 6 — trimethyl
‘octane

(3) 4 — Ethyl — 3, 5, 7 — trimethyl
octane

(4) 2, 4—Dimethyl — 5 — ethyl - 6 —
methyl octane

(5) Question not attempted
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23.

24.

25.

26.

53

fedt T vy TUPAC 7w 2 23.
NOs

CI/©\31'

(1) 3-FARI-5-FH1 4152 Ff
(2) 8-FHI-5-FART ATgLY WA
(8) 15MH)-5-FNI-3-T82) Faftq
(4) 3-TEZ)-5-FAR FET Al
(5) o
frefafea & @ s @ e ewefE | o4
fmﬂs;;maﬂa"r?ﬁ%?
(1) S8
(2) 2-=g&H

(3) 2-uf¥re WiF-2-31Te
(4) n-wifae ofe
(5) e s 25
Fraforfga & 8 99 3 o e 7 € ¢

H cl

a. >C=CH~CH=Ci |
H,C Br
cl Cl

b ‘c=c=c’

Br/ \Br
CHg4 B4
N\ /S
g ==
c /G G \

H Br

Cl
d. —— —-

Br)c c=C )
(1) asd (2) a3mb
(3) baMe (4) bakd
(5) rgaia ye

|
|
|
W [4 - 2] 322, 4 Fh s R I A
|
|
|
|
|

0 X]w (X
(3) @Q @)

(5) AN W

7

The correct IUPAC name of the
given molecule ng
2

Ci Br
(1) 3-Chloro-5-bromonitrobenzene

(2) 3-Bromo-5-chloronitrobenzene
(3) 1-Bromo-5-chloro-3-nitrobenzene
(4) 3-Nitro-5-chlorobromobenzene
(6) Question not attempted

. Which of the fn]iuwing compounds

18 not isomeric with diethyl ether ?
(1) Butan-1-ol

(2) 2-Butanone

(3) 2-Methyl propan-2-ol

(4) n-propyl methyl ether

(5) Question not attempted

. Which of the following molecules

are not chiral ?
H Cl
a. >C=CH—CH=C’<
HEC Br
Cl Cl
b e=csc!
Br Br
CHa\ r’,\‘I].E
¢ /’,C C—C\
H Br

Cl
d. Br>c=c=c >

(1) aandd (2) aandb
(3) bandc (4) bandd
(6) Question not attempted

The correct structure of spiro [4 - 2]

hepta-2, 4-diene is
0 3o (O
3) ®<]

( (4)
(5) Question not attempted




27.

28.

29.

aefefiga 41 1 R or S g fG=ma
fafée i :
H

HyCa =

- *‘;,C—CHEDH

CH;-CH,
1) (S)-2 - — 1 -
@ (R)-2— A% - 1 - e

(3 (S)-2-ufam - 1 =g

(4) (R)-2-— e — 1 - e
(5) Irwiea e
sfafias 4 =1 R/S fFow o=
fafée Hifsm :
CH,4

Br\?/ﬂ
H?” S WBr
CH,

(28, 3S) - 2, 3 — SIEHESA
(2S, 3R) — 2, 3 — SEAMIEYH
(2R, 3R) - 2, 3 — SRAMISEA
(4) (2R, 38)-2, 3 - SRAHEEA
(5) FwiE W
fpafefiea & 4 =9 @ A s
HuTEgEa feE g # 7

g
H
b. O<Br

CH;4
0
C=0=C.

Br” " By
d. CH,CHOHCOOH
Had a (2) Hade
Fa@bad (4) b, c3ld
A 9

(1)
(2)
(3)

_CH;

e —— — — — —— S ———— — —

27. Assign absolute configuration as R

28.

29.

or 8 of the following compound :

CH,-CH,

(S) — 2 — ethyl — 1 — propanol
(R) - 2 — methyl =1 — butanol
(S) — 2 — methyl — 1 — butanol
(R)—2—ethyl-1 é.pmpanal
Question not attempted

(1)
(2)
(3)
4)
(5)

Assign absolute configuration as
R/S of the following compound :
CH;
Brx:T !H
H? By
CH,
(28, 3S) - 2, 3 — dibromobutane
(2S, 3R) - 2, 3 — dibromobutane
(2R, 3R) - 2, 3 — dibromobutane
(2R, 35)-2,3- &ﬁ#ﬁmabutanﬂ
Question not attempted

(1)
(2)
(3)
(4)
(5)

Which of the following compounds
can show optical isomerism ?

g
H
b. ©<Br

GHE\ /dH%
c. C=C=C_ r
Br” “ By
d. CH,CHOHCOOH
only a (2) onlyec
banddonly(4) b,candd
Question not attempted
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30.

31.

Ezi

53

3 ey T fawedi ® R 9 W G
wgdl Fa % FH T HEFETEA & qEIY
=1 gél & 8 gefrag F R 2

(1) FH < Fam-dre < o Tl <
T

Fd < T8 < R-ar < Imf
Lol

e Fdl < 79 < Faw-AE <
Ff

Fdl < aw-9e < 9@ < FHl
T

(5) Jgwia W

o e AETERRAT ® HA T HEA
e 7

(2)
(3)

(4)

0

CHj4
- (2) HEw C,

(4) C,WC,

(1) %Fad C,
(8 C,@wWC,
(5) A W

(1) Afref % ey = 9m & Bfm
fafere wfufrn @

g  SINdE  geEdd d@H9E
Ao IeTE FA1A1 2 |
asfifrar & Bfm fftea &
(feete) Aftrefi o 4 % HR0 # |

(2)

(3)

(4)

(5)

i

30.

31.

32.

Which of the options given below
correctly lists the conformations of
cyclohexane in order of increasing
energy 7

(1) Chair < twist-boat < half-
chair < boat

(2) Chair < boat, < twist-boat <
half-chair

(3) Half-chair <'boat < twist-boat
< chair -

(4) Chair < twist-boat < boat <
half-chair

(5) Question not attempted

Which carbon in the 2-methyl
cyclohexanone is chiral ?
0O

st
(1) only C, (2), only C,

(3) C,andC, (4) CgandCg
(5) Question not attempted

Which of the following statement is
incorrect for addition of methylene
from photolysis of diazomethane to
an alkene ?

(1) Addition of  methylene to
double bond is stereospecific
reaction.

Each geometrical isomer
forms cis-addition product.
The streospecificity of the
reaction is due to the addition
of triplet methylene.

The stereospecificity is lost
when the reaction is carried out
in the presence of an inert gas.
Question not attempted

(2)
3

(4)

(5)

o
2




33. ¥ sfufErar & ww 3erel w1 fiysor B

34.

35.

36.

=
W m-CPBA,

OH
(1) efifers fasm
(2) wwiafesey fifen aamgd
(3) oFT wiftm M s swfifissy
e st
(4)

(5) e ¥

(4) CHE-{|] - CH=CH,
CH,

FAE W
Frafafas 4 & @9 @1 w9 Wwmh
E S e ad e 7
(1) TETHEETEAIEE |
(2) wEwmd wvyE # R w9

it o ffFm S e S mems B |
(3) el W fowumem @y # gEvm

1 HY TE R |
(4)

F famm e @wEa 2 |
(6) iAW
frafefaa § @ =55 w1/8 A fet =g
E!ﬁm%mﬂiﬂ?

2, 3-SRAERATA
11. 2, 3.4=TETEHT
IIl. 2, 4-9=AERaATe
(1) IwEIl (2 I1wEII
(3) IIwdIll (4) Haa1
(5) Tl g

10

HEw % 72 fau o@ w ot e ;

33.

34.

35.

36.

The products obtained from the
reaction will be the mixture of

% m-CPBA,

OH
(1) Racemic mixture
(2) Diastereoisomers
(3) Both Racemic mixture and
Diastereoisomers
(4) Meso compounds
(5) Question not attempted

Hypareunjugg%}on occurs in :

3
|
{1.] ©—E=UH2
@ @-cna
(3 @-ctcnga
CH,

[
(40 CHz-C-CH=CH,
|
(5) Question not attempted

Which of the following statements
is correct for electromeric effect ?
(1) Itis a permanent effect.

(2) The direction of electromeric
effect is always that which
facilitates reaction.

Electron displacement is not
the measure of polarizability
of the bond.

The displacement of electron
persist even when the charge
18 removed.

(5) Question not attempted

Which of the following compound
can exhibit meso form ?

I. 2, 3-Butanediol

II. 2, 3-Pentanediol

III. 2, 4-Pentanediol

(1) ITandII (2) TandIII

(3) IHHandIIT (4) onlyl

(6) Question not attempted

(3

4)



37.

38.

33

Profafes & & =9 @ @ & ™
sl & e adt @ ¢

HSWM

(5) geiE wH

Prfefas & 78 sfufrmatt 5 dme,
o, st o1 = & =g 8 fR
e Feheat 1§ § A9 TE IR
a. CH4CH,Br + NaCN—
CH,CH,CN (+NaBr)

s Oronzmons
R\

a17.

38.

Which of the following product is
correct for the given reaction ?

NaOH

HS 00—
S
(1) 2
OH
HS
2 \/\/\H
OH
s
(3) OH
OH
(4) us
OH
(6) Question not attempted
Identify the following given

reactions as additions, eliminations,

substitutions or rearrangements in

correct order from the given options

respectively :

a. CH,CH,Br + NaCN —
CH4CH,CN (+NaBr)

b. Acid
vttt Cyens
c. Q + /f\g/ Heat @J\

d. O +O,N - NO, —488t,

NOg
P e

(1) Substitution, Elimination,
Addition and Substitution
(2) Substitution, Elimination,

Rearrangement and Addition

Elimination, Rearrangement,
Addition and Addition
Substitution, Elimination,
Rearrangement and
Substitution

Question not attempted

(3)
(4)

()
o




39.

0

frafafen sfufrn 6 frafafy § 5
T Head] &R 7

itr‘” OCH,, CH,0H @/CUUCHE

40.

41.

42,

(1) FEEEE (2) S
(8) e (4) E=SE
(5) A wH

(1) sp® (2) sp
(3) sp (4) spid
(5) Faia W
Freafefiaa 4 demsel w fmm =t
1. CH;CH,C!

II. CH,=CH-CI

II. CgH,—-Cl

T Femgst i ww Fard (C - Ol 91 v
0 ° HafeE
(1) I=II>1III
(3) IMI=>II>1

(5) ARG WA

Frefefign & 3 #5771 %99 sge & o

wE AR R 7

(1) wes wt=a 7 aifvst 6 fRafy
HETH TEAT =R | (

I>1IT>11
II>1I>111

(2)
(4)

(2)
=) HE auH e =R |

(3)

Wt S wE A o

F1 & 59 Bl =9ifRw |

HE FA H FH T4 W W

s1fees B |

AN 5

S e T 3 g |

|

FIAG FH H A Fll e |

|
|
i
|
|

12

39.

0

Which intermediate is formed in
the mechanism of following
reaction ?

40.

41.

42.

(1) Carbocation (2) Carbanion
(3) Carbene (4) Benzyne
(6) Question not attempted

The hybridization of the C-atom in
singlet carbene is :

(1) sp? (2) sp?

(3) sp (4) spid

(5) Question not attempted
Consider the following three
halides :

I.  CH4CH,CI

II. CH,=CH-CI

I. C,H;-Cl

Arrange C — C[ bond length of these
halides in decreasing order :

(1) I=II>II (2 I=MII>1II
(3) HI>II>1 (4) IOI>1>11
(6) Question not attempted

Which of the following statement is
not correct for resonance ?

(1) The position of the nuclei in
each structure must be the
same.

The number of lone pair
electrons in each structure
must be the same.

Internal energy of a resonance
hybrid must be less than that
calculated for any one of the
resonating structures.

Lower the resonance energy,
greater is the stabilisation.
Question not attempted

(2)

(3)

(4)

(5)
53



43.

EHS ? o~CH, EH{ngz %CHB}S

44.

45.

53

sifefaa Y=g 1 wrrfia IR Sl
FEE FH IR ?

I

I}H}IH}I‘J
IWW=2MII>1I>1
I>MI>1>1IV
(4) I>IV=>11>1II1

(5) TG 9
KCN, DMF
ME_G_CHD RT, 20 hr

mmﬁ?&mﬂm%
Me

{1]
(2)
(3)

(1) CN

Vs cﬂ@“ﬂ
B L

COOH

(2)

3

@) Me

CN

(5) FgHfE w

frefafea § @ #i9 @ %99 E1 e |
il &% o mem 2 2 |
(1) veat we # tffee tomge faafa |
Bl 0 HEYATEA SR | |
e TaIEE $I gen i dfend |
Frirersg i framfier 21

e ek 1 vE T & 7 e e |
R < e e 3 Pieeari 2 |
Wﬁmi@ﬁaﬁ{ﬁmaﬁa{l
agaThe | 1
Hafa v |

(2)

(3)

(4)

(5)

43.

441

45.

Among the following arenes, which
order is correct for their no bond
resonance energy

EHS ? +~CH, %H(CHEJZ ?{cna}a
I

I}H}IH:-‘IV
IWW=II>11>1
H>MMI>1>1IV
(4) I>IV>II>11
(5) Question not attempted

ME_@_ ci0 KON, DMF,

{IJ
(2)
(3)

RT, 20 hr
The pmhtliuct of above reaction is :

(1)

(2)
(3)

(4)

(5) Question not attempted
Which of the following statement is
incorrect for E1 elimination
reaction ?

(1) In the first step the alkyl
halide dissociates to form a
carbocation.

Alkyl iodides are more
reactive than alkyl fluorides.
A proton is removed from a
carbon that is adjacent to
positively charged carbon.

The increase in concentration
of base increases the rate of
reaction.

Question not attempted

(2)
(3)

4)

(5)
o




46. Feifeiftga sifufEn ve sgmm 2

VHCOMe
NO; E——Me Br
\QEN‘“DH HZSD 4
Br —= N

Syn (7=
(1) foie qafd=mg (Ej*ﬁ"m;?;:%ﬁaa'a

(3) widaw Tl (4) FFam gfd=m
(5) HAeNE ‘o
(1) KH/THF

47.

E0,C(CHy), COOBt {orois

(1) S 3mee B
(2) fmmaifaraetimm
9t wAiufRa sgEn A B2

40

(2) Etooc COOEt

0
b
COOEt

H,S0,
B—

(1)

0
(3}@" (4)
(5) gwE ¥
H H

L
Cely - € - C—CH,
OH OH

T IR AR:

48.

(1)

(2)

(3)

(4)
(5)

C¢H,COCH,CH, 3R
CeH CHCH,CHO 1 fasmr

i v

e e — —— A — —— e . e e ——

46. Thefﬁﬂoﬁngmacﬁunisanexi% lgﬂ
—Me

NOg IE Br
UN“‘(}H H,80,
q Br ——3 OsN

yn (major product)
Schmidt rearrangement
Lossen rearrangement
Curtuis rearrangement
Beckmann rearrangement

5) Question not attempted

(1) KH/THF
47. EtGEC{CHE}_,‘ COOEt W
(1) Hydrolysis

(2) Decarboxylation
B in the above sequence of reaction is

L0

1
2
3
4

O
3) Q" 4)
COOEL

(3) Question not attempted

0
0

H H
A H,SO
48. C.H, - {[3 = +r|:-'£:1-13I —= 4 ,A
OH OH
Major product A is :
H

|
(1) CgHj- {l',i) - (|3 - CH,4
U.H
H
|
(2) CgH;- (|3 - {|Z} -CH,
l
H O
H
|
CegH,-C - ﬁ -H
|
CH; O
Mixture of CgH;COCH,CH,
and C;H,CHCH,CHO
Question not attempted

3

(4)

(5)
53



49, Frefafea sfufrn w1 o=@ sER R

CH, +
so.( e

51.

53

Ph
(1) Ted, 01
0@ H,0 4

N3
Ph

(1 o

HO
X
NH,
[y
bl,;/u\DH
Ph

FPh
O/NHE
FITRE W
CH3 H:]E GH&
CHg
+

Futrer T o I 2
(1) - faarg gAfE=mE
(2) W=

(3) wifEa qAf=H

(4) Heqm HiE4aE

(5) TG Y

- faf ) gema @ Pefafaa d @
= o froradg aom geafyg @
HHAI R 7

(1) FA Had

(2) gt (friren) e

@) frlifes Fa=

(4) 2H W vE e ()

(5) FTE W

(2)

(3)

(4)

(5)

OH

|
|
|
|
I
I

|
|
|
|
|
|
|
|
|
|
|

15

49.

. OH
CHs
50. CH;

(2)
3

The major product of the following
reaction is

(1) toluene, heatl
0(2) H;0 j

75

(3)

(4)

O,NHB

Question not attempted

CH
CHE HEC 3
u* CHs
) +

Above reaction is an example of
(1) Wagner-Meerwein
rearrangement

Stobbe rearrangement
Lossen rearrangement
Curtius rearrangement
Question not attempted

(5)

(2)
(3)
(4)
(5)

51. Which of the following heterocyclic

ring can be synthesized using Paal-

“Knorr method ?

(1) Furan only

Pyrrole only

Pyridine only

Both Furan and Pyrrole
Question not attempted

(4)
(5)




52,

53.

aq-fafom  sfefmor e §

Ut aE & S e FE R

(1) gdta= tfewa > arae dfFaa >
farfas tfeswer > 3

(2) e > wE 2R > fidws
tfewe > qeftas tfewe

(3) wE EfEEE > AR > fidfls
ufewe > Jeftas Ufeswa

(4) s Ufewa > fidfas e >
af=ret > wrgee 2fFae

(5) 3rAiE wE

NaOH (1) NaOBr

dfemee >A(2)HGI

IR Afufrn I A B 2

(1) e sr=

(2) u=nffes s

(3) Uhefm

(4) #=irEs I

(5) orwifd ¥

Frafafgs sfufrm #1 @ s R @

g7

COOEt NaOEt
COOEt .
(1) Q':D

COOEt

> B

(2

(3)

0
(X
COOEt

(5) BAsl

4
I

52.

53.

54.

In the Baeyer-Villiger oxidation
reaction the correct order for
migration of alkyl groups is —

(1) tertiary alkyl > cyclohexyl >
secondary alkyl > benzyl
benzyl >  cyclohexyl >
secondary alkyl > tertiary
alkyl

cyclohexyl >  benzyl >
secondary alkyl > tertiary alkyl
tertiary alkyl > secondary
alkyl > benzyl > cyclohexyl
Question not attempted

Phthalimide NaDHT_ Am NaOBr
(2) HCI

B in the above reaction sequence is
(1) Phthalic acid

(2) ~Anthranilic acid

(3).  Aniline

(4Y ~ Benzoic acid

(Ej Question not attempted

Which is the major product of the
following reaction ?

COOEt NaOEt _
COOEt .
(1) Q:U

COOEt
2)"

[ =o
~ Et00C
0
@) U
0
@) CE
COOFEt

(5) Question not attempted

(2

3)
(4)
(5)

»B




55.

5’6!

a7.

58.

53

wa % fam & wgan et @
Wi & i Wafes 7

oD -
(3) : (4) ©

(5) ITTHE 3

tfezaee %1 F2F 4 fhoh ufdfa g

faafa frm e 2 7

a. —CHO 9qg %1 2830 — 2695 cm™!
&% % C — H %1 et 7 ey

b. 975-780 cm ' E&FHC-HF

e & AT gAT P SEIE

Fac a TR |

Fad b HE R |

a 3 b gH TE E |

(4 asmbeAT T TEE |

(5) e e

v, fie qun gErdw # for s
afaE & YR W Rt fadt w5 wdl #
FHAR?

(1) frde > uEfE > WE

(2) W > fle > gErdE

(3) urETEE > fulie > ®H

(4) 4R > T > Rl

(5) 3FFwIE I

ZraTsferm A &
(1) vé-undfes
(2) ta-tdfes
(3) UAfew

(4) T AHE AE
(5) srgwfE

(1)
(2)
(3)

e — —— — T —————— — T — i ——

[
=

55‘

56.

ET‘

Which of the following compound is
aromatic according to Huckel's rule ?

T
e o O

(5)  Question not attempted

Aldehydes can be distinguished

from ketones by the presence of

a. weak C—H stretching absorption

of -CHO group in the region
2830 — 2695 em™.

b. weak C—H out of plane bending
absorption in the region
975 — 780 cm™ L.

‘only a is correct.
only b is correct.
both a and b are correct.

(1)
(2)
(3)
(4)
(5)
Which is the correct order of
aromaticity in furan, pyrrole and

thiophene on the Dbasis of
estimation of ring current ?

(1) Pyrrole > thiophene > furan
(2) - Furan > pyrrole > thiophene
(3)  Thiophene > pyrrole > furan
(4). Thiophene > furan > pyrrole
(5)  Question not attempted

'both a and b are incorrect.
Question not attempted

. The tropylium ion is

Anti-aromatic
Non-aromatic
Aromatic

None of these

Question not attempted

(1)
2
(3)
(4)
(5)




59.

60.

ﬁli

T (@) CO,
p i — >
CH; PhLi " (i) Hy0

I wfufra sgwa A B R ;

s > COOH
® @—cmcnn = qICHa

b %~ COOH
(3) QGHECDDH(‘” (NIM
(5) iy

Hin NHE NaNE:zéHCI;
&l ffrEN 1 HaP0q, 4

mmﬁmgﬁmﬁq:

% HDDH

@) :t:»ﬂN!«n:u2

@

@ @—NH—NH—@
FAia we

(5)

=
N~ “NCH; PhLi

60.

61.

(i) COy
(i) HoO

B in the above reaction sequence is

COOH
@) Q—CH cuo @ E;,I

cooH
@ @-cmcmﬂ(‘” L

(6) Question not attempted

@U’

The prnduct of above reaction is :

Me

CHa H

3) CEN—J[ * @ Yia

CH,CI

)

(6) Question not attempted
NaNO,/HC!
BN~ O)~(O)-ni, 0L,
Gl ﬁng ceﬂﬁ

Identify the product A in above
reaction :

o) HDDH
) UE_NNDE
3)

® @D

(5) Question not attempted

CH,Ph

MELI
TCH,Cl;

53



62. Fr=fefien Swe =@ @ ofs =
qﬁTﬁQ:
Fgd 'HNMR IR @A

C,Hg0, feuete, § 1.27 (3H) 25003000 cm™
a2, 5 3.66 (2H) &7 # g1 et
iz, 5 4.13 (2H) 1715cm & #
fimeie, 510.95 (1H) T fre

o
CH,- CH-CH,-C-OH

o)

|
CH,-0-CH,-CH,-C-0OH
0

I
(0)

I
CHa—D—CHﬂ-‘C_U"CHE

(1)

(2)

(3)

(4)

(4)

(5)
53

62. Identify the compound from
spectral data given below :

Mol. 1HNMR IR spectrum
Fﬂrmula Epectrum
C4HgOg triplet, 5 1.27 (3H) broad peak in
quartet, 8 3.66 (2H) 25003000 cm !
singlet, § 4.13 (2H) region and a peak
singlet, 5 10.95 (1H) at1715cm™!
OH 0

l Il
CH,- CH-CH,-C-0OH

I
CH, - 0~ CH,—-CH,-C-OH

T
CH, - CH,~0-CH,-C-O0H

I
(4) CH,-0O-CH,-C-0-CH,
(5) Question not attempted

Pick up the major product of this
reaction :

0
+ Eg :%)—r Product

o

H-C
) Eﬂ_ﬁif’

Ko
@

3

63.

=0

o

HO

(2)

(3

4

(5) Question not attempted




64.

85'

66.

@ M Ty 8 wfufEn $ fau
ATEHeE R (K, ) giia e 8 :
kl

E+STES

ks

— E + Product
(e + k), (2) (ky + kg,

kl
@ o+

ES
(1)

ks,
iy K

(6) JFguiEI
UF UAEW Ioia shufEn wuw @i
wenfoh! e vefifa w7

(1) [S1<<K,

2 [l>K,

(3) [S]I=K,

(4) K, ¥4 [S] R FiHe gt 8, 79 |
(5) g S

e, [S] = foramam A am

K, = Asehiem fenis

T SR 3 e & R A w
A T HIEA FH R ?

(1) CHj<RCHj <R,CH* <R,C*
<CH,~CH;

RCH; < R,CH* < R,C* < CH;
- CH; < CH;

CgH; =:CH; < CHj < RCHj <
R,CH*< R,C*

CgH; ~ CH; < R,CH* < R,C*
<RCH; < CHj

I 9

(3)

(2)

(3)

(4)

(5)

|
|
|
I
|
|
|
|
|
|
|
|

64.

65.

66.

For the given enzyme catalysed
reaction the Michaelies constant
(K,) is expressed as :

k,
E+8 % ES
k;
k
ES—3>E+Produ¢t
(1) (ks +kyik, (2) (ko + ko)k,
k, k,
3) T +k 8) ket
(3) k, 1 (4) 2+k3

(5)

Question not attempted

When does an enzyme catalysed
reaction follow first order kinetics ?

(1) [S]<<K,

(2) [B]>K,

(3) [SI=K,

(4) K, is independent of [S]
(5) Question not attempted

Where, [S] = concentration of substrate
K, = Michaelies constant

What is the correct order of ease of
fragmentation to form ions in mass
spectroscopy ?

(1) CHg<RCHj <R,CH*<R,C*
< CgHs~ CH;

RCH; < R,CH* < R,C* < C H,
~CH; < CH}

C¢H; — CH; < CHj < RCH; <
R,CH" <R,C*

CeHy — CHj < R,CH* < R,C*
<RCH;, < CH;

Question not attempted

(2)

(3)

(4)

(5)
53



67. frafafea sifufa & KO/ % dm =190 | 67. What is the effect of adding KCI to
YYTE BT ? the following reaction ?
[PtCI,‘]E” + OH —» 372 [PtCI,,]E" + OH™ — products
(1) Rate of the reaction would
(1) afufeFm graed | Shivbina.
(2) sl qraet | (2) Rate of the reaction would
(3) e o arafiaftia @i | decrease, _
el siihil el il P e R i
e e | (4) Rate of the reaction would first
(5) Fgwia WA increase alr:d subsequently
ﬁmﬁa decrease with time.
65. :{nga?jﬁw ® Y, iﬁ KOH (5) Question not attempted
ﬂm 2 l sk ~ 68. When KOH is dissoclved in water,
T e - heat evolves. If the temperature is
(1)  sifia wh raised, the solubility of KOH
2) =i :
(3) werft (1) remains the same
) A TE I S g (2) increases
E;] Hgﬁ.ﬂ?:‘:‘zq {3) decreases
) I (4) cannot be predicted
69. HfHUA (A) : 1, 3.5921e187 1 HBr % | (5) Question not attempted
Yy Ffufpan § 1, 2-4mer B9 1, | 69. Assertion (A) : The 1, 2-addition
4-amreas for @ wifvs i’ﬁﬁ”ﬁ E: reaction of HBr with
AR | 1, 3-butadiene is found to undergo
HR (R) : 1, zﬁnm#m faster than 1, 4 addition.
g U VS sfsd | o | Reason (R) : The 1, 2-addition
TEEE reaction has larger activation
?11;[ ﬁ{;ﬂ &1 (Ri) A ¥ & 3ﬂt {]51) (A) energy than 1, 4 addition.
N — Select the correct answer,
1) Both d tru d
@ Oh@FTETg®,@ | D L) O a e o
6 Tt =T T R | | (20 Both(A)and (R) are true, but (R)
(3) (A) ¥R M (R) w2 | | is not correct explanation of (A).
4 A)yEIRANR) FAR | - (3) (A) is true and (R) is false.
(5) TG ¥ | (4) (A)is false and (R) is true.
70. eEwia-TEEtE st (5) Question not attempted
faferor =1 s BT § ) g 70. In photochemieal reactions, absorption
1) i u‘a v of radiations takes place.
( gk il “ | (1) ultraviolet and visible
(2) Iearaw (2) radio waves
(3) Had LI : Eig m_:l_g,lrj ia.risib?
4) TIOHH UF T~ vigible and x-ray
EE; :ﬁﬁftﬁ mﬂ.ﬁ ] (5) Question not attempted
53 21 o
| |




71.

72.

FRE-IW FHEW F IFgER JAERE

e (1) =1 sifufsear an B (k)
wuTE % sfee aroft 1aur 2 H femmu E
T gifera s 919 g o e @ @ I
w1 944 Fifeu
ameft 1 qrft 2

framelt s Z,Zy
A. [Co(NH,).Br]2* + Hg?* i’ —6
B. CH,COOC,H,+OH~ ii. 2
C. Fe®*+ [Co(C,0,),]* ‘il 4
D. Sgﬂg‘+[— iv. 0
%2

A B C D
(1) i i iv il
& ® i i W
@ i v i i
4 iv i # i
(5) FwIa e

mﬁm-ﬁﬁ?m Tt sl
H

Br, + hv — 2Br Rate constant, k,
Br + H, - HBr + H Rate constant k,
H + Br, — HBr + Br Rate constant, k,
H + HBr — H, + Br Rate constant, k,
Br + Br — Br, Rate cunsta;_i‘l_:,‘-kb

Ffufern wamE 3 ky[Br]?, difefed
dfrmhqad v

(1) ky(Br,] @) 2k,

(3) ky[Br][H;] (4) 2k,[Br)]

(5) TG ¥

e i e E—— e e

22

71,

72.

According to Bronsted-Bjerrum
equation for the effect of ionic
strength (I) on reaction rate
constant (k), match the data given
in Tables 1 and 2. Select the

correct answer from the codes
given below :
Table 1 Table 2
Reacting ions Z,Zy

A. [Co(NH,)Brj?* + Hg?* i -6

B. CH,COOC,H,+OH~ 1. 2
C. Fe*t+ [Cu(ﬂiﬂga]?'“ i, 4
D. Sﬂﬂg—+ I iv. 0
Codes :
A -B G =8
() ‘& # av 3
2 3 ¥ W
8 Hi v i i
gy v 3 #n i
(5) Question not attempted
In the hydrogen-bromine

photochemical reaction :
Br, + hv — 2Br Rate constant, k,

Br + H, — HBr + H Rate constant, k,
H + Br, - HBr + Br Rate constant, k,
H + HBr — H, + Br Rate constant, k,
Br + Br— Br, Rate constant, k;

The value of termination reaction
rate, kg[Br]?, is equal to which of
the following ?

(1) k,[Br,] 2 2k,

(3) ky(Brl[H,) (4) 2k, [Bry]

(5) Question not attempted



73.

74.

TE"

76.

77.

53

Fr=fefen 3 @ =49 @1 9ifs =8 afos
AR ?

(1) CLO,

3) SO,

(5) IEiE e
ferftrm Bemse (LX) % oFd a9 W
e FAAS FEar 90 ps m? mol! wrd
et & | AR Lit smm & Oer smfe
IEhal 40 ps m? mol™! & @ EemEs
AT 6 e S S 2 -

(1)
(2)
(3)

@) POy
(4) B,0,

130 ps m? mol-!

130 ms m? mol-!

50 ps m? mol-!

(4) 50 ms m2mol!

(6) HTIE weA

HIF | @T0T T g 2

(1) 01 M . NaOH &1 50 ml +
0.1 M CH,COOH %1 25 ml

0.1 M CH,COOH % 100 ml
+ 0.1 M NaOH 7 100 ml

0.1 M HCI %7 100 ml + 0.1 M
NH,OH % 200 ml

0.1 M NaOH %1 100 ml +
0.1 M HCI %1 100 ml

(5) HwIiE W

TH 4 x 103 M #esfia faeaw &1 pOH
6%, a1 3ot [H*] frmfi # 7

(1) 25x102M(2) 1x10°%M
(8) 24x10°M@) 9x10"M
(5) gl ¥

25 °C T CHyCOONa % 0.01 M wrefig
faera= &1 pH 201

(pKa (CH,COOH) =4.0 W K_ = 10-14)
(1 5 2 6

3 8 4 9

(5) Igwia we

(2)

(3)

(4)

73.

74.

75.

76.

|
I
|

| 7%

—_— e——

Which of the following compounds
is the most acidic 7

(1) ClL,0, @ PO,
(3) S0, (4) B,0,
(6) Question not attempted

The molar ionic conductance at
infinite dilution of lithium halide
(LiX) is found to be 90 ps m? mol-1.
What would be the molar ionic
conductance of the halide ions if

- the molar ionic conductance Li* ion

is 40 ps m? mol~1?

(1) 130 ps m? mol!

(2)" 130 ms m? mol-!

(3) 50 us m? mol™!

(4) 50 ms m? mol~!

(5) Question not attempted

Which one will make basic buffer ?
(1) 50 ml of 0.1 M - NaOH +
25mlof0.1 M CH4COOH
_1(]{] ml of 0.1 M CH,COOH +
100 ml of 0.1 M NaOH
100 ml of 0.1 M HC!I + 200 ml
of 0.1 M NH,OH
(4) 100 ml of 0.1 M NaOH +
100 ml of 0.1 M HC!
(8) Question not attempted

The pOH of 4 x 103 M hydrazine
solution is 6. What is [H*] of this
solution ?

(1) 25x1012M (2) 1x 108 M
(3) 24x10°M (4) 9x10"M
(5)  Question not attempted

The pH of 0.01 M aqueous solution
of OCH,COONa at 25 °C (pKa for

CH,COOH = 4.0 and K_ = 10-14) ig

(2)

(3)

.5 @ 6

(3) 8 4 9

(5) Question not attempted
(=
A




78.

79.

80.

pH 10 ¥ e & oo § U ERgem
WS [H + e~ -5 Hy) 71 v 7

0 | (femrman & 2.303 % =0.0591 V)

(1) 0591V  (2) —-0.0295V
(3) —0.591V (4 +0.295V

(5) AEIE W
wefta wifean wwiss faem 1 Agd
A F WA A IR FAE 2

(1) NaOH 3% Cl,

(2) wifeam urg 3 Cl,

(3) NaOH, Cl, 3 H,

(4) Cl,#WH,

(5) TIE S

feard-zwer firgra % AFER CaCl,
AT sl A T (y,) 3R 3EH
Frafyd afFaan (g9 ¢, T91 HOTEE
7)) ﬁ:mmi b/

M P=r1. @ r=1ekr
@ P=1.+7 @ vY=uy
(5) HANA 9

81. TFaETESH 1 & 2

82.

(1) FRAFA 6 0.5 M e aRgfEra & 1.5 M&

(2) FFF % 1.5 M v gegifdi $0.5 M #

(3) % 1.0 M eRdfd H 1.0 M A

(4) RS 2.0 M SR H LOME

(5) FATHE 9 '

weiifefiga § =9 @1 o S 2w A2h

LR RInIE &

(1) g gvi femam wman 2 |

(2) faufm feon #§ ww wvanfes =%
Tee1 v foRan ST # |

(3)

FHFEAE |

PbO, g1 e Yfta s S g |

A ¥

(4)
(5)

Hgsaqm%mmwi

78.

79.

80.

81.

82.

Calculate the potential of hydrogen
electrode [H* + ¢ — % H,] in
contact with a solution whose pH is 10,

(Given that 2.303 R—FT =0.0591 V.)
1) 0591V 22; —0.0295 V
3) 0591V 4) +0.295V
5) Question not attempted

Dunng‘ the electrolysis of aqueous sodium

chloride solution, the products are

(1) NaOH and Cl,

(2)  Sodium metal and Cl,

(3) NaOH, Cl, and H,

(4) Clyand H,

(5) Question not attempted

According to Debye-Hiickel theory
the relationship between mean ionic
activity co-efficient (y,) and ionic

activity co-efficients (y, for cation and
v_ for anion) for CaCl, is given by :

M) Z=pr @ B=R+L
@ Y=y3,+7¥ @ vi=nr

(5) Question not attempted

Quinhydrone is made up of :

(1) 0.5 M of quinone and 1.5 M of
hydroquinone

(2) 1.5 M of quinone and 0.5 M of
hydroquinone

(3) 1.0 M of quinone and 1.0 M of
hydroquinone

(4) 2.0 M of quinone and 1.0 M of
hydroguinone

(5) Question not attempted

Which of the following features is

not related to lead storage battery ?

(1; It is rechargeable.

(2) It is recharged by passing the
current in opposite direction.

(3) A solution of H,80, is used as
an electrolyte.

(4) It consists of a grid of lead

filled with PbO, as cathode.

Question not attempted

(5)
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83.

84.

85.

86.

fiae % augl ardaat #§ @i & 9 wue
1 SITAT R | JEHT 6 R

(1) T gemm

(2) e dEm

(3) fufén gamor

(4) ferfem qemo

(5) orgviRE W

©HRH, WM W =RR % wEw
FufRaa s d R aTEa 2 7

(1) =M 1 Feaum T § sl g
R

W T AT gz & 3 e
2

Y TE W2 T %1 FSEE g9
B g |

A ©E R oH F EEE
T B R |

(5) e S

ofives w0 @ U R aniam
4.5 x 10° 99 81 9 geh! S g TR 7
(1) 6.49 x 109 =

(2) 2.22x10%9d

(8) 3.5x10899

(4) 9.0x 108 3§

(5) IFaa ¥H

(2)

(3)

4)

e & & wdt e 9

(1) wmmaﬁaﬁﬁﬂmﬁl
HeE g AYA-ATHI B # |

A AgI-IEE w T
A F WY HeT qGAT R |

vaT AA-FATEA F S
T & WY weg Hea # |

et off vl & Aga-vat
qd aYl THAS 95, ded
HHA B 2 |

FAAE 99

(2)

(3)

(4)

e e i e —

(5)

83.

84.

85.

86.

A steel screw in a brass marine
hardware corrodes. This is due to
(1) Galvanic corrosion

(2) Erosion corrosion

(3) Pitting corrosion

(4) Crevice corrosion

(6) Question not attempted

Which of the following statement

about electron, proton and neutron

is correct ?

(1) Mass of the neutron is more
than that of proton.

(2) Charge on the proton is more
than on electron.

(3) Both neutron and proton have

(4)

(5)

same mass.
Both neutron and electron
have same mass.
Question not attempted
The half-life of z‘ggU undergoing
a-decay is 4.5 x 10? years, what is
its average life 7
(1) 6.49 x 10° years
(2) 2.22 x 10° years
(3) 8.5 x 108 years
(4) 9.0 x 10'® years
(5) Question not attempted

Out of the following, choose the

correct statement :

(1) All strong bases are always
weak electrolytes in their
aqueous solutions.

(2) Conductivity of the weak
electrolyte always increases
with dilution.

(3) Conductivity of a strong
electrolyte always decreases
with dilution.

(4) Electrochemical equivalent and
chemical equivalent of any
substance are always the same.
(5) Question not attempted




87.

90.

wvifefas ool 8 8@ =9 @1 'EW

YRRITEE &1 56T i | WG 21 8 7

(1) 3femm-g0 (2) FEEH-131

(3) ©RFEH-153 (4) WIEHNH-32

(5) IR He

U (A) : TS TNF F1 TwaEs
e I8 faewE @ft WeE 3tk
=T % FEAHH % AP A FHEAIR |

HW (R) : 57 T1fve =1 Fwfor #ran 2 &
IF TE F UF W&l fEEE B
AR |

HE I IR |

(1) (A) 3R R) 2Fi =g € 3R R), (A)
=1 9 =T HE 2

(2) (A) 3R (R) 3 7 & 7g R), (A)
F1 wdl =T TR HAR |

@) (A)TFEIN(R) FEAER |

(4) (A) FEE AR (R) 9 |

(5) 3FTRa W

af 7H, °H v jHe ) du Fi (MeV )

w2, b ¢ B, A sl H + H

— He + ln 3 fremftm 351 (MeV 3

&t ;

(1) a+b-c¢

(2) c+a-b

(8) e—a-b

(4) a+b+ec

(5) FHvIRE W

e e o + 200 —s

—+1;B&+§:Z+D;Q%_i'ﬁﬂﬁﬂ?

A FEA R 7 |

1) X¥PU @ ZRKr

(3) D24 (4) QR=gH

(5) w9

|
|
|
|
X

87.

88.

89.

gui

Which of the following isotopes is
used in the treatment of
hyperthyroidism (over-active thyroid) 7
(1) Yttrium-90

(2) Iodine-131

(3) Samarium-153

(4) Phosphorus-32

(5) Question not attempted

Assertion (A) : The actual mass of

every nucleus is distinctly less

than the sum of the masses of all

the protons and  neutrons

constituting it.

Reason (R) : The annihilation of a

part of mass occurs when nucleus

is formed.

Select the correct answer.

(1) Both (A) and (R) are true and
(R) is correct explanation of (A).

(2) Both (A) and (R) are true, but (R)
is not correct explanation of (A).

(8) (A)is true and (R) is false.

(4) (A) is false and (R) is true.

(5) Question not attempted

) 1
Inthemaﬂhun:fH+?H—>;He+ o
if binding energies of fH fH and ;He
are a, b, ¢ (in MeV) respectively, then
energy (in MeV) released in this
reaction is —

(1) a+b-c (2) e+a-b
(3) e—a-b (4) a+b+ec
(5) Question not attempted

In the nuclear reaction :éll + 232!1
144 89 1
+
— X — mBa + aﬁz D OQ

which of the following statement is
false ?

(1) Xis®U (2 ZisKr
(3) Disd (4) Q is neutron
(5) Question not attempted
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91.

92.

93.

94.

HE'

53

freferfa & & smsarerfrm 2 ;
(1) ';Cuur ¥Na

2) 5 MgaaiNa

(3) yHewam 'S0

(4 'zcmw N

(6) FFTRANT |

W UF A 31 -0 9] S’ - B
WA B, 79 48 369~ AT 2

(1) UsaaeTe (2) o aauies
(3) UH GHINH (4) T wHEIST
(5) Fvia e

v egudl o= &1 sw fsfefes
FHETE 9 & B

Ay
A——B ), =18x102s1

J"'Z
2A—2 ,B 2,=109g1
7 e 5w &1 3iea Se-% 2

(1) 52.63s (2) 526.3s
(3) b5.263 s (4) 5263 s

(5) i@
& Fram @ 89 & Bq sifeRea § @
B g HAEEE R 7

(1) 31 8 3 faeaa e # o) ama
o 7 21 =i |

e g 3= & =R |

faer 3 faemas & oo Al
it gt =fad |

(4) R g e |

(5) IrFwiE ¥

B T, @ e F Ao
& fore s e 2
(1) lﬁN

(3) iZp

(5) et v

(2)
(3)

(2) 80Co
(4) 359

91.

92.

93.

94.

95!

Isodiaphere among the following

options 1s :

14 2 24
(1) C& I?Na @ 3 g&ﬁ'Na
(3) GHe& 'S0 (1) “ZC&UN
(5) Question not attempted

When ' an element loses two
a-particle and four P -particles, it
will generate

(1) anisotope (2) an isobar
(3) anisotone (4) an isomer
(5) Question not attempted

A radioactive element decays by

parallel path in following manner :

A— 5B 1A,=18x102g"!
A

2A-——=2 4B Ao =109 g1

Average life of radioactive nucleide

will be ¢

(1) '52.63s (2) b526.3s

3 5.263s  (4) 5263s

(5) 'Question not attempted

Which of the following conditions is
necessary for the applicability of
Henry’s law ?

(1) The molecules both in gas and
solution phase must not be in
equilibrium.

The gas pressure must be
high.

The chemical reaction
between the solute and
solvent must occur.

The temperature must be
constant,

Question not attempted

@
(3)

(4)

(5)

Isotope used in sterilization of
foods is —

(1) 5N (2) %Co
{3) EEP ( 4} EES
(5) Question not attempted




96.

97.

Ferfaes womet # ueel & TaEES e
T yftads & o9 g9 &1 9ol T 8

(1) firen-geagices adiewm

(2) die E® FHER

(3) Frer-gaw wdftwm

(4) fimem g =l wHi

(5) A W

3% w0 (svifeE WR = 342) F 5%

forema o uged X & 1%faa:r-t#m
T & | X %1 S0en 2

(1) 171.2 (2) 684
(3) 34.2 (4) 136.2

(5) FguiE ¥

foemas %1 faega &t 3R 8 48 faemas
1 3R yaTTRd &1 HETT 8 |

(1) smfatE

(2) oE

(3)
(4) HF™EA

(5) IFmRa

afe FEuR AU F wE AN q
W I B e § wHeR R, a9
fae taee & fram @ fFm yoR @
farem et 2 7

(1) i fereer e
(2)
(3)
(4)
(5)

Joh A JUE

96.

97.

98.

| 99.

|
|
|

describes the relationship
between changes in chemical
potential for components in a
thermodynamic system.

(1) Gibbs-Helmholtz equation
(2) Van't Hoff equation

(3) Gibbs-Duhem equation

(4) Gibbs free energy equation
(6) Question not attempted

A 5% solution of cane sugar
(mol. wt. = 342) is isotonic with 1%
solution of substance X. The
molecular weight of X is

(1) 171.2 (2) 684
(3) 34.2 (4) 136.2
(5) Question not attempted

Flow of the solvent from the
solution towards the pure solvent
is known as

(1) Dialysis
(2) Osmosis
(3)
(4)
(5)

Reverse Osmosis
Distillation
Question not attempted

If the forces of attraction between
unlike molecules are weaker than
those between like molecules, the
solution shows which type of
deviations from Raoult’s law ?

(1)
(2)
(3)
(4)
(5)

No deviation
Negative
Positive
Positive followed by negative
Question not attempted
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100.

101.

102.

103.

Taema % amdiem & 91y, faemm W
FHYATE

(1) =&m |

(2) @@m |

(3)  FTun & S |
(4) Frafrafda w@m |
(5) orgefa wo=
Oiee #EYAS 3999 [BRiE ft g
gz o

(1) K mol™?

(2) K kg mol™!

(3) Kkgmolls!
(4) K

(5) T e

frrferfam & & @ a1 sopEEr o A
27
(1)
(2)
(3)
(4)
(5)

|
ey - faeraa & o Traee =1 fam i
a1 faes % woaoft g@ & fau I
maﬁmq%mmwﬁm%ﬁm]
T B Frfiehtor [
et g & fore gl adieR I

AT 99

(4)

(5)
29

100.

]. ﬂli

1“2 L

With evaporation of solvent, the
boiling point of a solution would

(1)
@)
@
(4
(5)

decrease

increase

become half

remain the same
Question not attempted

The unit of molal boiling point
elevation constant is

(1) K mol™!

(2) K kg mol!

(3) Kkgmol!s!

4 K

{5) Question not attempted
Which of the following is not a

colligative property ?
(1) Vapour pressure

(2)
(3)
(4)
(5)

Osmotic pressure

Elevation of boiling point
Depression of freezing point
Question not attempted

Equation = CRT is known as
(where © = osmotic pressure, and C
= concentration of the solute in

solution)

(1)) Raoult’s law for the ideal

. solution,

(2), Van't Hoff equation for the

. osmotic pressure of a dilute

. solution.

(3) Van't Hoff equation for the
osmotic  pressure of a
concentrate solution.

(4) Henry's equation for the
osmotic pressure.

(5) Question not attempted

o




104.

105.

106.

107.

o AiE S0, () % S0, (W) @ 0,
() & fomfor w C) 3R C, H i e
FE # 7 (Tt g ) ey JEd §0)
(1) RT 2) -¥%RT

(3) YRT 4) IH

(5) gwifa S :

uidt aftads, AS % way F aefeiea
FUAIH AT FEA B AR ?

(1) U HA=Y Mg F gHard!, IsFAv
famm 1 AS YA B R |

faffaa @ 3R T@ W WEE
itada 1 AS I A B |

UH IS FEH TiEed 61 AS
1 T A & 2 |

U ST FEr TiEdE 1 AS
B R | |

(5) 3w S

for am W v wed W R (P,V)
s & (P,V,) Fraw § giEdd €9 W
freferfan # & =1 |1 adfte AS & fom
g B 7

(1) AS,=C,inTyT,

() AS,=C, InTyT,

(3) AS;=RInVyV,

(4) ASp=RInP,P,

(5) FgeRE T

o faemm, s fomr 6 gl J9m
Hued F& ey e % wE B R
v T 6 s TRl § H 98
firera el B 81 R fareE e 8
(1)
(2)

(2)
(3)
4)

(3)

(4)
(5)

104.

105.

106.

107.

30

The difference between C,, and C, for
formation of one mole of SO, (gas)
from SO, (gas) and O, (gas) is equal
to (assuming all the gases to be ideal)
(1) RT 2 -%RT

(3) Y%RT (4) Zero
(5) Question not attempted

For change in entropy, AS, which of
the following statements is true ?
(1) AS for reversible isothermal

expansion of an ideal gas is zero.
(2) AS for phase change at
constant temperature and
pressure is zero.

(3) AS for a reversible adiabatic
change is zero.
(4) AS for an irreversible

adiabatic change is zero.

(5) Question not attempted

Which of the following equation for
AS of an ideal gas at constant
temperature, undergoing the
change in state from (P,V,) to

(P,V,) is applicable ?

(1) AS,=C,InT,JT,

(2) AS,=C,InTyT,

(3) AS;=RInV,V,

(4) AS;=RinP,P,

(5) Question not attempted

A solution whose entropy of mixing

is equal to that of an ideal solution

with the same composition, but is

non-ideal due to a non-zero enthalpy

of mixing, is called

(1) Ideal solution

(2) Non-ideal solution showing
positive deviation

(3) Non-ideal solution showing
negative deviation

(4)

(5)

Regular solution
Question not attempted
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108. F=mfad & g fan d s 2 f

uHt &1 uRar @ve 76 & fome weam
aftos 38 YR | T HeRE § we #1
THR B 7

(1) waEifam (2) wud faam
@) fefafmm (1) gfafem
(5) TR W

109. sHardta feufa 4w el e ) & o

FEHT T IGATT BT |
(1) amEH g #

(2) a9aE gfe uE A s F i
(8) Hae g HE HA H

(4) it Foi gfg #

(5) Hufd wH

110. &5t sform a1 wfufrn & foe W=t

TfEdd (AH) # T % fow 9 3
Fifiw 1 I9ER fE S & oW e
HET-FT AHAT T GH FHel TiEd
(AG) FI A FHE 7

(1) firee-gam g

(2) Trea-gewdiees wefte

(3) diE &% gt

(4) BewEICS THIEHT

(5) Iaia g

111. renferfas zamad

53

P em

9 Y 59 HY=1 3 e
fér guen

Torsameft

e. gH

# @ el Cp = (GH/OT), T7 wiliHm
g B R 7

(1) a,b,ew@d (2) b,cdUe
(8) a,b,ct@e (4 abUdc
(5) TG ww

a.
b.
c.
d.

109

110.

| 111.

|
|
l
|

31

108.

Which law of thermodynamics
states that no process is possible
whose sole result is the transfer of
heat from a colder to a hotter
reservoir ?

(1) Zeroth law (2) First law
(3)  Second law (4) Third law

- (6)  Question not attempted

The heat given to an ideal gas
under isothermal condition is used
tu:
(1)
(2

(3)

increase temperature

increase temperature and in
doing external work

only do external work

(4) increase internal energy

(5) Question not attempted
Which equation is wused for
calculating the enthalpy change
(AH) for a process or a reaction
provided the values of free energy
changes (AG) at two different
temperatures are known ?

(1) Gibbs-Duhem equation

(2) Gibbs-Helmholtz equation

(3) Van't Hoff equation

(4) Helmholtz equation

(5) Question not attempted

Under which of the following
conditions :
4. constant pressure

b. . ‘gas or liquid or solid system
c. constant composition

d.  heterogeneous

e. - homogeneous

the jequation Cp, = (6H/eT)p is
applicable ?
(1) a,b,candd (2) b,c,dande
(3) a,bcande (4) a,bandc
(6) Question not attempted
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112. fr=r § A F |1 Hauas FwRiiae §-Y
1w € w7

(1)

(2

e

(3

P

(4)
(5)

R

@:-E
r=G =

f”) --[—J

113. frw oftfeafa d 2 @

] Py)__AHwp(1 1
RiP,)- R {Tﬂ i

A2 ?

(1)
(2)
(3)
(4)

(5)

114. Fomifed &1 w1 &1 fam wea 2

AH,, mmm:—mﬁﬁi!m% B
ﬁmmﬁwﬁ@mil
ey U AEH AR |

79 & AT, A% & FEAT hl
Ao v B & |

i v

T ¥ T Y AR T, e vae |

T T A w R e ot freef
3ra & a8 98 I A AT 2 7 '

(1)
(2)
(3)
(4)
(5)

— e ——— T — — — .

L
L

113.

114.

112. Which one of the following does not

represent Maxwell's thermodynamie
relation ?

(1) @a

(BP

@ (G ~(h

(3

(4)

(k=)
(55} =~ Gek

(5) Question not attempted

Under which condition the formula

-5

En[-g"

1 R \T, Ty

is not valid ?

(1) ﬁH__,np is dependent on
temperature.

(2) The system is at equilibrium.

(3)
(4

(5)

Which

The vapour is an ideal gas.
The volume of the liquid is
negligible in comparison with
the volume of the vapour.
Question not attempted

law of thermodynamics

states that at absolute zero of
temperature, the entropy of every
substance may become zero and it

does

become zero in the case of a

perfect crystalline solid ?

(1)
(2)
3)
(4)
(5)

Zeroth

First

Second

Third

Question not attempted
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115. frefofiga & & s S & R F B9

W HYA FA AL R ?

(1) 3R S et o) i e e
%1 fre o w8 I S T W
wgar o fore & el St e 2 |
e el 6t s = =
ferss Fon |Yg 1 61 TEd FH gl
21

Y ¥ AHR 4 & A9 @
AT A T B |

HEAA Sl AlEs W e d
wwifad Bl 2 |

(5) FEiE 5=

(2)

(3)

(4)

116. Feffsa i asRT P #H Cl>F>Br>1

BEmta g ?

(1) sy s
(2) eERA A
(3) Togm-—=oneTwd
(4) FEGA®

(5) HwI W

117. B9 13 % qwi o 5U9 S S

A HH TR ?

(1) B>Al>Ga>In>TI
(2) B>Ti>Ga>Al>In
(3 Ti>B>Ga=>Al>In
(4) TI>In>Ga>Al>B

(5) FERE WA

Y] forean freheam 8 2
(1) Zr, Hf (2) Ni, Pt
(3) Fe, Ru (4) Zn,Cd

(5) Ei

119, Brefafes & & #1979 J&HR 7§ w6

Bz g sfEa R ?
1 K
(8) Sr
(5) IgEIE S

2 Rb
(4) Ca

118, Preffias @i % 7 ¥ fea gm 6t | 118,

i
[
=]

— ————— — ————

8

115.

116.

117.

Which one of
statement 1is not
ionization energy ?
(1) Ionization energy is amount
of energy supplied to an atom
to promote an electron from
lower energy level to higher
energy level.

Noble gases group have
highest ionization energy and
group 1 has the lowest.
Ionization energy decreases
as the size of atom increases.
Ionization energy i8
influenced by the charge on
nucleus.

(5) Question not attempted

Which one of the following
property is related with sequence
Cl>F>Br>1?

(1) Atomic Radius

(2) Electron affinity

(3) Electro-negativity

(4) Boiling point

(5) Question not attempted

What is the decreasing order of the
first ionization energies of group 13
elements ?

(1) B>Al>Ga>In>TI

(2) B>TI>Ga>Al>In

(3) TI>B>Ga>Al>In

(4) Ti>In>Ga>Al>B

(5) Question not attempted

Which one of the following pair of
elements have their atomic radii
closest to each other ?

(1) Zr, Hf (2) Ni, Pt

(8) Fe, Ru (4) Zn,Cd

(6) Question not attempted

the following
true about

(2)

(3)
(4)

. Which one of the following element

is expected to be smallest in size ?

(1 K (2) Rb
(8) Sr (4) Ca
(5) Question not attempted




120. Fr=fefes o 9 fead 7y g =i
Afra & 2

(1) F, @ o«
(3) Br, @ I,
(5) gmitE v

121. Frefefea o=t % g9 § @ *89 @ qm
g9 T YT I S HER W,
wﬁﬂ;wg’faﬁ#ﬂmt"-

(1) Z=19&Z=38 oy
(2) Z=12&Z=17
(8 Z=11&Z=21
(4) Z=16&Z=35

(5) FwE W

122, $feam &1 o famam & .
(1) [Ar] 3d10, 482, 4p!?
(2) [Kr]4d19, 582, 5p! .
(3) [Xe] 4f14, 5410, 652, 6p!
(4) [Ar] 3d1°, 462, 4p®

(5) e W

123. Eu®* (WHM] #9i%-63) o | mﬁﬁa
Foal ) e R
(1) 0
3 b
(5) JFaa W

124. T THST F drz FEH F 20 W
=tk & = aren anfvs S
(1 fam@ @ w@
(3) = (5) (4) o
(5) HAgwiE wH i~

125. ﬁn%ﬁaaﬁémﬂﬁaﬁrﬁ?ﬂwm
e ad sfas g 2
(1) 1s? 2s2, 2p8, 3s!
(2) 1s2, 252, 2p8, 3¢
(3) 1s2 282 2p8, 3¢2, 3p?
(4) 1s? 252 2p8, 3s2, 3p3

(6) 3TwIIE W

2 4
4) 6

i

|
|
|
l
|
|
I
|
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125, Which

120. Which one of the following have the
largest bond dissociation energy ?
(1) F, (2 Ci,
(8) Br, 4 I,
(5) Question not attempted

121. Which one of the following pair of
elements on the basis of their
shown atomic number belong to
the same period of periodic table ?

(1) Z=19& Z=238
(2) Z=12&Z=17
@) Z=11&Z=21
4 Z=16&Z=35
(5) Question not attempted

122. The electronic configuration of
Indium is :
(1) [Ar] 3d'9, 452, 4p!
(2) [Kr]4d', 582, 5p!
(3) [Xe] 4f'4, 5d19, 652, 6p!
(4) [Ar] 3d10, 452, 4p3
(5) Question not attempted
123. Number of unpaired electrons in
Eu®* (atomic number-63) is :
() 0 (2) 4
3) b 4 6
(5) Question not attempted

124. The molecular orbital formed by
the interaction of dxz orbitals of
two atoms on z-axis is —

(1) Sigma (a) (2) Pi(n)
(3) Delta (§) (4) Non-bonding
(5) Question not attempted

one of the following
elements will have the highest
second ionisation enthalpy ?

(1) 1s% 282, 2pS, 3s!

(2) 1s% 282 2pb, 342

(3) 1s? 2% 2pb 352 3p?

(4) 1s% 282, 2p8 352 3p3

(5) Question not attempted



126.

127.

128.

129.

130.

131.
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B, 3] % wfuas e A@ 3§ LUMO
HEH B

(1) =2p
(3) o2p

(5) Frgaita g™

FEARA ZETANIES 1 STTHN 8
(1) Frernfg fgfmfies
(2) T-HAHR

(3) =i Rofiegm

@ T g Il

(5) HATNA W

CH, 31y 3= wiita i F& 8
(1) oo anvw a9 o
(2) T EHEN Y1 A

(3) Ul AUEY 91 o
(4) TS HEWH 99T

(5) gaE W

SF, 310 & fofe sraefi soragia dog & ?
(1) 4 (2) 3

(3 2 4 1

(6) FaiE 9w
[BrF,]- v i smpfr 2

(1) i aaas

2) W

(3) T-IHR

(4) =AHEHE

(5) HTE S

Ffoas Hae fagia % ITER C, 9 |
9p HEF eI F HF 21
(1) lo@9l In &Y

(2) 2n¥Y

(3) & lo oY

(4) %ad 1n &Y

(5)

a9

(2)
(4)

n2p
o*2p

126.

127.

128.

129.

130.

131.

In the Molecular Orbital diagram of
B, molecule, the LUMO orbital is :

(1) =n2p (2) n*2p

(8) o2p (4) o*Zp

(5) Question not attempted

The shape of Chlorine trifluoride is :
(1) Trigonal bipyramidal

(2) T-shape

(3) Square pyramidal

(4) Bent shape

(5) Quﬁatinn not attempted

The ﬁigheat occupied molecular
orbital of CH, molecule is —

(1)
(2)
(3)

triply degenerate and o
doubly degenerate and n
singly degenerate and o

(4) singly degenerate and n

(5) Question not attempted

How many non-bonding electrons

are present in SF, molecule ?

{1; 4 (2) 3
(3) 2 4) 1
(5) Question not attempted

The shape of [BrF,]~ molecule is :
(1) Triangular planar

(2) Linear

(3) T-shape

(4) Tetrahedral

(5) Question not attempted

According to Molecular Orbital
Theory (MOT) C, molecule has
: due to 2p orbit

overlapping.

lo and 1n bond

2n bonds

1o bond only

1n bond only

Question not attempted

(1)
(2)
(3)
(4)
(5)




132, frefoifga weet 4 @ frm sweaw

133.

134.

135.

1 36'

137.

TS A R ?
(1) H,S

(3) HI

(5) i W
anfose Faw g F sgar s
WY it aren A R
(1) H,

@ C,

(5) el
frafeafigs et & & S @ wgew
HUTEgEaT YefiEa S R ?

(1) [Co(NH,),Br]SO,

(2) [Co(NH,),NO,CL,

(3) [Pt(NHy),] [PtCL,]

(4) [Cr(H,0)4Cl,

(5) FeRE ¥

a1 Ma,b,c, % o ey wmeg €
(1) 4 (2) b

3) 6 4) 8

(6) eI W
Fraftm srewadia snfufy son dge 2
(1) [Cr(H,0))**

(2) [Mn(H,0)g**

(3) [Cu(H,0)g*

(4) [Ni(CN)J*

(6) Hgw@ W= |
freferfiaa Dl 3 meriaRt
BAHFAR : WA
(1) NaBr > MgBr, > AlBr,
(2) AlBry>MgBr, > NaBr
(3) MgBr, > NaBr > AlBr,
(4) NaBr> AlBr, > MgBr,

(5) IAITE W=

2 HOI
(4) H,0

@ B;
4 Fy

|
|
i

|
|
f
|
|
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132,

133.

134.

135.

136.

Which one of the following substance
has strongest hydrogen bond ?

(1) H,S 2) HCI

(3) HI (40 H,0

(6) Question not attempted

According to molecular orbital
theory the molecule with highest
bond energy is —

(1) H, (2) B,

@) G, (4) F,

(6) Question not attempted
Which one of the following complexes
exhibits linkage isomerism ?

(1) [Co(NHy),Br]SO,

(2) [Co(NH,) NO,ICL,

(3) [Pt(NHy),] [PtCL,]

(4) [Cr(H,0)4Cl,

(5) Question not attempted

The total number of stereoisomers
for the complex Ma,b,c, is

(1) 4 (2) b
(3) 6 (4) 8
(5) Question not attempted

The complex with regular
octahedral geometry is

(1) [Cr(H,0)**
@ [Mn(H,0)%*
(3 [Cu(H,0)*
(4) [Ni(CN)J*
(5) Question not attempted
The correct decreasing order of
melting point of the following
compounds is
(1) NaBr > MgBr, > AlBr,
(2) AlBr, > MgBr, > NaBr
(3) MgBr, > NaBr > AlBr,
(4) NaBr > Al[Br, > MgBr,
(5) Question not attempted
53



138.

139.

140.

141.

T [CoCly]+  sepaer frmea &7
famre A, 18,000 em™! & | &1 [CoCl]*
& ST e & e A, gt

(1) 18,000 cm™ (2) 16,000 cm™?
(3) 8,000cm! (4) 20,000cm™

(5) FwIE wH

[Pt(NH;),CI(NO,)] %1 I[UPAC 714
(1) s SEuiia FRATEEEE
(2) FARAEL — N —uie w@fes ()

(3) sEu sEHEAEdS - N -
e (10)

(4) T FERAELR — N — @ifee
(10

(5) HAFIE W

age [MLJ2" Aft @ % s W
ST AT B | Hpe H TR

(1) e

(3) e

(5) I FH
KMnO, % s &t T 1 rer 8
(1
(2)
(3)
(4)
(5)

(2) =
(4) e

A d — d FFET
faftrg d — d wFmm

ferite & G ST TR0 HHA
urq 4 ferite s T dehee
FTNE W

|
|
|
|
|
|
|
|
|
|
|
|
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138.

139.

140.

141.

If the octahedral crystal field
splitting A, for [CoClg]* is
18,000 em™!, then the tetrahedral

crystal « field splitting A, for
[CoClL)2 will be
(1) 18,000 cm™ (2) 16,000 cm™

(3) &000cm™ (4) 20,000cm™
(5) Question not attempted

IUPAC name of [Pt(NH,),CI(NO,)]
is

(1) Platinum
diamminechloronitrite

(2) Chloronitrito — N — ammine
platinum (II)

(3) Diamminechloridonitrito — N
— platinum (II)

(4) Di_gmminechlcmnitrito - N -
palatinate (Il)s

(5) Ii;’.t:u_:aai;:i«r:-n not attempted

The complex [MLgl]** absorbs light

of orange colour. The colour of the
complex is

(1) Blue (2) Green
(3) Red (4) Yellow
(5) Question not attempted

The (intense purple colour of

KMnO, is due to -

(1) Allowed d — d transitions
(2) Forbidden d —d transitions
(3) Ligand to metal charge
transfer transitions
(4) Metal to ligand charge
transfer transitions
(5) Question not attempted
=]




142,

143.

144.

145.

146.

foru o famme & e ampet &
(1 FrTE FTife & 7

(1) d® (2) d7 = =y
(3) dis==EFw (4) d7I=FTEW
(5) IFFvRa ww

[NiCl,)%- aer [PtCl, )% wmw: &

(1) FggEhE, FHTEHY

(2) wlrgmbia, sfrgadi

(8) sggEd, sfrgasa

(4) wiogad, sqgada

(5) w7

Frefefiea § & fem o & o &
FHOT RIE-FE TR 7

(1) Pb (2) Hg

(3) Cd (4) As

(5) i@ W=

Y] SrefsgEEa Y SrEETen fhes gr
fawfa Frmh ¢

(1) e A

2 #ie

(3) IR

(4) ESHH

(6)  IrgeE ¥

Penfr fRRwfidt sff F fm
d-weat 6 a5 Preffes § 2 99
w2

dx® - y2> dxy > dez= l:l;i.rz‘-‘-’-»:iz2
dz? > da? - y2 = day > dxz =
dz? > dx® — y2 > day > dxz = dyz
dx® — y% = dxy > dxz = dyz > dz?
I 9

(1)
2
3)
(4)
(5)

|

|
|
J
dyz |
|
I
|

142,

143.

144,

145.

146

Which electronic configuration is
expected to have the orbital
contribution of magnetic moment ?

(1) 4% (2) d7 Low-Spin
(3) d*High-Spin (4) d7 High-Spin
(5) Question not attempted

[NiCl,]* and [PtCl,]? are
respectively

(1) Paramagnetic, paramagnetic
(2) Diamagnetic, diamagnetic

(3) Paramagnetic, diamagnetic
(4) Diamagnetic, paramagnetic
(6) Question not attempted
Itai-itai disease is caused by

toxicity of which of the following
elements ?

(1) Pb
(38 Cd
(5)
The concept of Atom Economy was
developed by

(1) Paul Anastas

(2) Barry Trost

(3) John Warner

(4) Joseph Breen

(5) Question not attempted
Which one of the following order of

energy of d-orbitals is correct for
trigonal bipyramidal geometry ?

(1) dx®-y?> dxy > dxz = dyz > dz?
(2) dz?>de®-y%=dey > drz=dyz
(8) dz?>dx®—y?> dxy>dxz=dyz
(4) da®-y®=day>daz=dyz> dz?
(5) Question not attempted

(2) Hg
(4) As
Question not attempted
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147.

148.

149,

150.

smifefEy faems § =9 a1 if= faemas

TE T TR ?

(1) #=iH (2) WAt

(8) tfumdEe  (4) 1-WHETE

(5) el 9

FuifafEa ®suAl (A) 3k (B) = f=r

i

(A) Fafire #1721 Sfae 2, 9w
o FtufEfE Fe T giniae
AL |

(B) ImfiE = &4 8 %A dE 2
qA Wh w1 & A ATUEET
T 1 T w5

aiw fagri & sar Fe=fafea 8 w6

AETAE 2 ?

(1) e (A)

(2) %a (B)

(3) (A) 3R (B) I

(4) (A) 3R (B) F & =18 7€l

(5) FAgaiE wH

Ffa (A) : TEM s 3= fadem
g1 (~0.05 nm) % HA FE=AT F
gey e g 2 |

FRU(R)  : 9g% FoEgE 99 # 3§
Al Foneed i Bl 2 |

HE IO TR |

(1) (A) 3R (R) g 7 € 3 (R),

(A) TR AT FATR |

(A) 3R (R) 3F1 o= & W (R),

(A) ¥ wé =T TE Fa e |

(A) ¥ 3R (R) 319 & |

(4) (A) FEER N (R) TR

(5) Iaa 9

P & wfereo wee g P A |
feraep IEm AT 2 ?

(1) d@E-sa  (2) e ffem
(3) awfiEm  (4) X-Fo faada

(5) et v

(2)
(3)

147.

Which of the following solvents is
not considered a green solvent ?

(1) Benzene (2) Ethanol

(3) Ethyl lactate(4) 1-Propanol
(5) Question not attempted

148. Consider the following statements,

149.

(Ayand (B) :

(A): It is better to allow the waste
-~ formation than to treat or
=" clean up.

(B) It is better to prevent waste
than to treat or clean up
waste after it is formed.

Which of the following choice is in

agreement with Green Principles ?

(1) (A) only

(2) (B)only

(3)+ Both (A) and (B)

(4),~, Neither (A) nor (B)

(5), , Question not attempted

Assertion (A) : TEM has higher

Cresolution (~0.05 nm) enabling

it to capture finer details about
the structure.

Reason(R) : The beam of
electrons used has a small de
Broglie wavelength.

Select the correct answer.

(1) Both (A) and (R) are true and
(R) is correct explanation of (A).

(2) Both (A) and (R) are true, but (R)

s not correct explanation of (A).

(3) 7 (A) is true and (R) is false.

(4) ' (A) is false and (R) is true.

(5) ' Question not attempted

. Which one of the following is a tool for

the characterization of nanoparticles ?
(1) Sol-Gel

(2) Ball milling

(3) Vapour deposition

(4) X-ray diffraction

(6) Question not attempted
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